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Question Number : 1 Question Id : 6981774438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement
SHUDTEN FnDHMDS ST H

Options :

Habitual behavigur 1s inherited

SULPSH B LOTEIT L HeMBHET TSI DTH 6 (HeuH
1.4

Habits are acquired dispositions

LILD & F Bl & 6T TaL) eML_HH LIGHIT LS 6T
Lp ) b 4

Habitual actions are performed every time in the same way

SULpSHLTe GlFWsDS6T spsibleuTHipsmpd @G T
GIEANE AN TRIOEAE il 8

Habitual actions are performed with great ease

SULPSHLOTET BIFIVSET L% sTellSTHF GlFUILILILI(GSH 55T DeaT.



Question Number : 2 Question Id : 6981774439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

NCF 2005 has strictly prohibited board examinations at this level

GsFws ssalsblsrsrens 2005 sdall Blmavssrar surfliug Csraysmsrs

SmL LFIIFZIETaTSHl. Y bSH HsvalBlamev
Options :

Class X only

X sugliys s W (Hib

1. %
Class XII only
XII sugliysE wiHib
2. ®
(Classes V. VIII and XI
V., VIII whmie XI wr_ M
- LM mILD oL (Pith
(Classes X and XII
4 % X whmb XII

Question Number : 3 Question Id : 6981774440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The percentage of representation of parents and guardians i the school

management committee prescribed in the RTE Aect, 2000

sevall GuaTamsnins Fwalls) GQuHEDTT wHDID sTiurer uBGsHLUHETSS

ssvall 2_fewwd #L1b (RTE Act) 2009 ufigisnragsrsr afl1péssrLarsy

Options :
One fourth
BT sITSH0 spaiTm)
1. &
Half
5 % Ty
Two third
. e @6
3.
Three fourth
BTITSHI60 FLPSITM
4.

Question Number : 4 Question Id : 6981774441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Students in a primary school are found to have a very positive attitude towards
helping others. That school can be said to have accomplished the goal of
developing this domain of students

2(f BBTLS51 usTaflullssrsr wrenrsutssr Upwrenraut emsE 2 saib
GpiwsnpwTaT UsiTsnUL GUDHNISTSTTT H6T. SHSLI LT LTSS

Lo TemTsUT Saif 65T sTHSL LUsiTsnUL Gunid Flesams planGaunifaill L g eTems
& (HHETLD

Options :

Cognitive

< plsy

Affective

5 & Lh‘ﬂ'ﬂ'ﬁ'ﬁl’

Conative

GlFwed sTpFF

Psycho-motor

GBlFwsd

Question Number : 5 Question Id : 6981774442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A person in his twenties has joined coaching centre for learning gymnastics and
dropped out as he could not perform. This can be attributed to the fact that

B musl suwgl Birbilw spmsut Glibarrsvyssn uLflusnsTs pm LwilnF

oSS CFTHSTT. eurmsd Frlsur Gy puywurssrs urSullGaGw
aflvglearrt. @55 Blamsvssrear allsnarsy [3)5)5msir

Options :

the individual has crossed the critical age period for learning gymnasties

SfOul L g5 Hui Plibarrsvigdsiv uwllsosusn@iflu srsvsl_ L

NS HLHF afll LT,
1.¢¥

The individual did not reach the maturation level required for learning
gymnastics

saflUl L yhs Ul glbarmsvigsat Lwilssusn@HTw suwgl wpHltFFsnw

2L Lsilsbems.

the individual understands the guidelines for learning gymnastics

safitul L 95b5 pul glbarrsvg st unllsvsusn @iu aflFlipsnnsamsri
yflbgl Glsrerslnmi.

The individual have a positive attitude towards gymnastics

SeufllILULl L gyhs HUT sdlibammsivig s Luilsvsusn il GBiwsnm
ST ETsn LD B TaisT (RsTemmi.
4, %

Question Number : 6 Question Id : 6981774443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following first four stages of Erikson’'s Paychosocial development in

sequence in ascending order

Ulsireumid, srifldenssilsir 2 er-Feps susmiFFullsir 1pHed BTsiTE ULy BlsnevBemsT

9lsunmlsir suartddlwig LiusnLuflsd sTmisuflsnFuilst gjeminds.

Options:

2. %

3.¢

4. %

Trust ws. Mistrust; Autonomy vs. Shame and Doubt; Industry vs.
Inferiority; Imtiative ve. Gult:

Bl&Ems vs gsaupbLilsens; STy flsnid VS gjsusBlsns) wHmID
BlFFwWmHD Blena; BlaTiflsd ClFwsbLTH VS STLpay WwaTLILITSTenLD;

(psiTElaT(RILIL VS HHmeyswrisy.

Industry vs. Inferiority; Initiative vs. Guilt; Trust vs. Mistrust; Autonomy
vs. Shame and Doubt;

GiaTiflsd GFwsbuT(®H VS HTbay WaTUUTSTHLD; 1psTalaTHiiy vs
Gnnaysnrisy; GUlEms vs gysupblilsEms; saraflsnio VS o5 Blsmnsy
WwHMI BFFWLNHMN Blsmev.

Trust ve. Mistrust; Autonomy va. Shame and Doubt; Initiative vs. Guilt;
Industry va. Inferiority
BLilsms vs gsupbLilsms; Sarayrlsno VS gjsusBlensy HMILD

BFFWLHD Blewsv; (pardlar®iiy vs nmeyswriey ; Gsriflsy GFwsour®d vs

gw@m LOGHT LI LI TS3T 6 LD

Industry vs. Inferiority; Initiative vs. Guilt; Autonomy vs. Shame and
Doubt; Trust vs. Mistrust.
GlaTiflsh GFwsOLTH VS STIPe WaTLILITSTeNLD; (PsiTGlaT Ry Vs

GHMDeyswTiay; S6Tsnflsmio VS gsusuBlensy HMID BFFWLNHD Blensw



Question Number : 7 Question Id : 6981774444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement relating to self learning

STGaT SHDL HDSS S6UDTET FnHsHDdH SeiTL 1) 5.
Options :

self learning helps in learning at one’s own pace

FTGaT NN s HsuTlsit SENMsL GaussaNEEsNHUE $NF 2 FaFInF).

self learning helps in strengthening the learning skills of the individual
STEaT HNHML FevflIUL L sp(HsuTlsir sMMsL Hmsnar 2 NIFILBSS
2_FayBIDF.

self learning helps in setting goals of one’s choice

FTGaT sHML pHsutsirt GlsTey HUSH BvsHelsTsTemr 2 SsyFlnSHI.

self learning can only take place in formal educational set up

FTGaT sNHMsy penpwTem Ssvall Blsmsoullst wi” HGw BlHw (1pigujib.

Question Number : 8 Question Id : 6981774445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One of the following is NOT an attribute of good facilitator in classroom
LilsiTsu (HeusiTsu H 1)y spsiTm, suFLILSHD HDMebls sTafl5TSS Hlemswr 6l Fiiw)b

LIGWITL] Sjal60.

Options :

analytical thinking

- uGLUUTleyF Fb5enear

knowledgeable

S DUTTHS Blemey
2. %

use of little or no dialogue

FDSsTaUTET 2 sMmTWTL 60 HsLsvGl 2 snriTL Gsv FlsvsuTSs Blemev
3.

ability to bring people together

LD HEMEIT $p(HEIHsMEMTS (FHLD (3 116 swLD

Question Number : 9 Question Id : 6981774446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Language is not purely learnt by accident or conditioning and much of it is
biological and species-specific. according to
Gurflsnmns stsitugl SHEFWOTHT BHPEUT Zsbag BlUbSmaTGILT Zjshs.
95 2 wilflws FTiHE5E5TH WL (HwsvsTnsd ssubleauTm 2 ullflarssnEw
FT5HTHLD UTILHSSH] 6THTN Fmpl 21 65T

Options :

1.



Noam Chomsky

Gpmib GFribsF]

\.:’/
Sigmund Freud
= - - 1 = .
5 % Fé&wsirr Lgmin’
John Dewey
someir 19 Gsu
3 %
Lev Vygotsky
Glevsu smeuGEETL_s08)
4, %

Question Number : 10 Question Id : 6981774447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For ability grouping of students a teacher should consider

Busysni plsmsouilsorar Gap Ulfludlsr Gurgy g Aflwui FAbLEs Gsuairiywg)

Options :
gender
ureflerid

1. %

mdividual differences

Fesflliul L spHaulisr Gaumyum(®



roll numbers

3 % sUTemEFE 6T6usT

phywsical characters

u 2 L 80 FO uwf&rqﬁm
4,

Question Number : 11 Question Id : 6981774448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Shwetha has learned about the Mughal dynasty and then of Sultannate
dynasties. In the exam she could not answer a question on Mughal dynasty as
her learning of Sultannate dynasty was interfering. The type forgetting here 13

sVGRUST (PHUTI HTF sUDFLD UDDIYLD HFHeTLI6IT FEVSTST HTFouLbFLD
unPlyid L SSIMTsT. FOSTsTS6H 6T sUDFLD UNPIL SNHDHVTEVILD 2 H6iT
BemLufL L renib Gaiallsh gysusmmsd wpHem &rF subFb uH i (F
allarraln gl uglasiiss g ualime. B)hs sumsLTar LD ILTaTS)

Options :

Proactive inhibition

TG GlUMID SWSES 2 w6y

1. %
Represzsion

5 % 9| L_HF] s euS 60
Disuse

LwsiTURSST Blsmsy



Retroactive inhibition

Lisbr Genrmds &l ; i
A lsTGarTHs S SWsHs 2 swrisy

Question Number : 12 Question Id : 6981774449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A student who knows to play piano has learnt to play keyboard quickly. The
transfer of learning here 1s
HwrGerr surflsss G515 p(p wremrsusmrsd FGUTTML suTHSS allwrsursd
sDmIG&Tsrer (b, Bbss sHpsd G LwrHDwrars
Options :
Negative

sTHITLDEM D

Bilateral

Bmmlsmsv Friy

2 %
Pozitive
GmiT wsnm
3. %
Zero
%mm



Question Number : 13 Question Id : 6981774450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Disconnection of Stimulus Response association 1s

FrewTLs0- HlsvmHsd F)ememrullsir Lilfley Blemev

Options :

Extinetion

GBlFwsnNn Blewsv

Generalisation

GlurgsnwiuT(h Blsnsy

Discrimination

UTrUl FOGILDID Blemsy

Spontaneous recovery

STaTTS [F) DL Blemsw

Question Number : 14 Question Id : 6981774451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identical twins Ram and Shyam differ a lot in their academic achievement. This

can be explained by this principle

rrib wHpih Fwrh D @[ HH PULeLwisst sdallF Frsmeruilsy

Qsugsurs CaunuBFnrissr. B)smear allsrsGh CSTaTmEILTHTS]
Options :

Development 1s predictable

SU6ITT FF BT LS HemilSES Fnlg iG]

1. %
Development is spiral and not linear
su s FF GlsiT LS| & (/e sul’ L oTergl. GHTGHTL Tamssvs

2. ®
Development proceeds from general to specific responses
suemt FFGlwsitugl GlUTHals0HHH HTSS6TenenIL CHTdH S F
GlFwWsLLIHSDSHI.

3. %
Development 1s a joint product of both heredity and environment
susmrFFAGWSTUS WTY WLHNID FONIFSHWSD Tstn D Teimigsr L (f
silem sTeu T(FH1D.

4.

Question Number : 15 Question Id : 6981774452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The concept of ‘private speech’ was put forward by
'SOTILUL L 2 60T 6TsiTM H(HSDH Wema) (1psiTGIoTLHlH Seur

Options :



Bandura

| % UeaT (hTm
Lev Vygotsky
Blavsl smeuEHTL s
2.
Piaget
wrelsl
3. %
Chomsky
GFmibs0 S
4, #

Question Number : 16 Question Id : 6981774453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Thorndike’s this law of learning indicates the physical and mental development
of an individual to learn a subject

Gaymisnml_Flullsit sHned unyu G55 alldl om urLOGluTmansTs Safliu’ L
HaUT SNGHLEUTH Hsuflsr 2 L s wHNID weaTsuaTi Ffamius ST HFEDSI

b3 allg]
Options :
Law of Readiness

_— 255 Blemsw aflF]



Law of Effect
silsmersy sl

Law of Exercize

uuim 4 aila)
3.
Trial and Error
WPwsTNI H6upflssMHnsD
4. %

Question Number : 17 Question Id : 6981774454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

ICT helps
SHausd BeTLiy Gsrlsd mc b (ICT) 2_saysug

Options :

in equal learning among learners irrespective of their individual

differences

sefiul L Gaupnismwsst @) mHsTaln sNGuTrflenL G @ FwBlsnssni
THUbSS

m learning for disabled students only

wrHns Sperrsf] WrswTsuTHeaflsir SNMaISE L (HLb

3.¢



in self-paced learning

FeflLul L spHsullssr sHnsv GaussSln G

mn learning of high IQ students only

3% BiswmeTDley ey (1Q) 2 _sirem wremrsuiHsiilsir HHMaIS & WL (HID.
4. %

Question Number : 18 Question Id : 6981774455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In this type of schools. scope for diversity 1s more

Bb5 susnasLl LisTsiSsilsh LisDssnBenLD BlN SRS S U TUILILSTSTS. 9)snau
Options:

apecial

ALY UsTeflssir

1. %
inclusive
5 & o GTEML_S I LIS e & 6T
achool meant for specific communities
SATUUL L FUPSTILS ST (HHH T LIST oIS 60T
3. %

gender specific schools

4 uTsdlerih FTiHS LisiT IS8T



Question Number : 19 Question Id : 6981774456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Teachers should consider teaching as a/an
o ATwT sHUSssmeos unYs 515 GousiTig g
Options:

one time training

206 (psmowrer Lwilns

1. %
one way communication
2 uifls GlsTLiy
2. %
art acquired from birth, nothing to do with learning
Bssmev UptidlGaGw Glumisugl. sHDISEFHS GlaTL TUlsboTSH!.
3. %
profession which requires continuous learning
BbsL uswtl BFTLT sHDensw GausThFE DAl
4.

Question Number : 20 Question Id : 6981774457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Subject centred paradigm of organising learning can be more appropriate for
this level

UTLLGUT(HsT FTTHS SN0 wrlt sl BuTFHESWLTs Hsnub suEGLiy

Options :

Pre-school

(LpsiT LIsiTsITlS SHsvadl
1. %

Elementary

BlHTL $55 HsDal
2. ®

Secondary

BlsmL Blsmsvd Hsvall
3. %

Senior secondary

Gust Flemsvsssall
4.

Question Number : 21 Question Id : 6981774458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement

FHIWTHT FDsNDS ST 1|5,
Options:

one can have physical health without emotional health

P(HsUT 2_snTiay Hevh FsverwGaG 2 L s e Glum (pigujLb.



one can have a sound mental health without physical health
pHeuT 2 L 60 Bevlh F)ssoTGaGIL susy sy T WaT Hdsnsll Glum

, x QU

to be healthy, individuals should have physical. mental. social and

emotional health as they are interdependent

BeopL st BHEH, SHNULL L spHsui, speiTsmmBlTeiTmy FTihHlsT6m
2 L s0UBSULD, WTHSULD, FAPSHSULD WMHMID 2 swriey B Blumnpl Hés
G susw (HLb.

3.¢

emotional health depends only on physical health

2 _sWTi ey BEULD 2 L 60 hovsemsdF FTihGEs 2 sirems).

Question Number : 22 Question Id : 6981774459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the correct statement in promoting democracy at school

usisluflsh peThTis Wamnsni susTrUsNCENHN FIWTHAT FnDHewDs HewTL1jl5.
Options :

in taking the decisions by the school authorities, voices of the children
must be heard
LsiTall] Bl suTSSBlart s (plgemeu sTHSEHWD SUTH 1o TewTsu e sir

HHSHBmeTs G55 Gausim (HLb.
1.¢

2. %



in taking the decisions by the school authorities. the voices of the
academically meritorigus children must be heard

UsiTeil] Bl suTsSBlamT sp(H (plgsmeu T (HSGHW GuTsyl Ssvalluilsy FnbHa

slsMTBIFHLD L TemTeuT Sl 60T &5 (HSHIFHMeTs BHL_5 Gousnt(Hib.

authorities of the achool can take decizions on their own as they are well

educated

usiTef] Bl suTssSlert $NMIS GHTHSeUT S6T sTETLISTE 9)6uTHE6m FHmlHsr
(P18 Hem e 6T (Hl&HEVTLD.
3. %

head of the institution and teachers can take decisions as they are trained

FBlnisusrs glsr semsvsumld o FATwiTsepn uwlnd ClunmeuTssr sTaTUS T
25Ul HGeT (Lplg6yHemaT oT(HSHHUTLD.
4. %

Question Number : 23 Question Id : 6981774460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement with regard to the emotional development

2 swrt#F) ausri&F HHlSS SaunTar smhsond sarLs.
Options :

1t depends upon the experiences of an individual

. Ba1 STl L sp(HsuTlsir 9)sylLIsuBISnsT 9lgLILINL IITHS 6% TarLg).
1.

1t 15 an outcome of interaction between heredity and environment

. Ba1 wrysuflyb FHNIFSWD suflyyb Gupru@n sTE553]sT allensrey.
2.



it takes place automatically as per their age as it 1s totally dependent on
genetic factor
B3l spaublaurTauflsit suwSnGsnus sTGaT BLLUUSTELW. sToawetlsd 33

- pupsugsIGw wrdlwst FTTH53I.

it 1a influenced by the socio-economaie, cultural and educational factors
Bla Feps-LlurmsTTSTT, UshTUT(H WHDID Salls Fmmisars) STHHLD

4 % Glumiib.

Question Number : 24 Question Id : 6981774461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Good teacher 1= one who

p(F Bsvsw o FMwi sTsiTUsui
Options :

tallks continuously providing information

1% GlaTLTBS SHsusmas sHH GUFLsUT

transacts only textbook material and make the children by-heart it

UTL LIS S55SSIa6Tsm GlUmHsmsT L (Hb $H5) OTeRTauT HensT aTLLTL LD
GlFlny smsuliLsur.

malkes the students get good marks by conducting practice tests

vuilnFls CHieayssr BLSF] WTewTauTHenar Hsvsw A L6 Glum

e LlLsui.



ensures the quality learning of the students

LD TemTsUT HaflsiT STITaT Ssallsnil 2 NIFIILI(H S H LsuT.
4.

Question Number : 25 Question Id : 6981774462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following helps the teacher in understanding the learners
LilsiTsu (HeusirsumDlsy spsiTmy, &y, AM Wi wTsnrsuissmertl Yilbg GlsTsirsm

2_gaSng

Options :

both intra and inter individual differences of learners
sHGuTT Blemevulilsh spsuGlouT(HouHdHFHsmEHLD, (HoHHGHLD 2 sTem

_— Bsw v L Geumiur(pssir &) mewr (B

mtra individual differences are adequate

Fafliul L spHaumHEGsrer Ceuniur(hlsGsr Gurswrars
2. %

inter individual differences are adequate

SoftULl L sutsehssamL Guwmsr CauniurhsGsr GursiwraTs
3. %

neither mtra nor inter individual differences are required

Feuf LI L &p (sl (b &HeiTer Geum LT (hs sHLD
Feuf LI L sui&EhHdbsHsnLGwisitar Gaumiur®ssnd Gsemsuiilsensy



Question Number : 26 Question Id : 6981774463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
From among the following. identify that 1s acquired by birth
Lilsitsumeuamsun st UnaflGaGw GlumliuBsusmnss Sl ils.
Options:

attitude

LD &BT LT LI [T 60T 67 LD

aptitude

BTL_L_LD

Interest

afl (HLILID

habits

uLLpésr:F_.rE‘ufﬁsiT

Question Number : 27 Question Id : 6981774464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Personality 18 dynamic

I EHEM DL LIGNTL] LDTMHFn 19 IWH]

Options :



1n all children

STEVSUTS (FHLL1H6EM S si|L_(LpLD
1.¢

only 1n out of school children

LsiTeil&@HF BlFsDsuTS (LphHensSsarflLLb oL (Hib

only in school going children

LIsTsiT & HF BlFsaib HbemSHeiLLb L (Hib

only in merit children

FpLureT FypbensHsiLLD WL (HILD.
4, %

Question Number : 28 Question Id : 6981774465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A method that 1s useful to understand oneself based on one's own experiences
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Options :
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Introspection
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3.¢

(Observation
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Question Number : 29 Question Id : 6981774466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following, one of the following is NOT a purpose for conducting

evaluation of Class VII children

LilsiTeu (HsusirsuHMIST spsiTmI eTLPTID suFHLILS FHUHMSSEHSSTT SILTH

GlFIIauSsT CHTHSD 9jsDs.

Options:

suggesting the students to drop out from school as they do not have
required abilities to continue further studies

L TeWTeUTH6i Uiglisnus GlSTLfsusnsrer Fwsyisnwsnwll Glunrs
Blsmsvullst, eyibmenTsuiHsr Csih Liglisnu afll_ [ ailsvsLl

UTBSIMTHH60.
1.¢

giving feedback for overall development of the students

L TemTaUT Saflsit PL_(HEIOTSS susmi FFHHS Caemauwurar Lilsirenre L 1b

96115 50



revealing the aptitude to the students to choose future studies

Lo TeRTsUTH6sT BT L $6mF 6T(HS5HISFn 1] sTHITSTEOL LIlg LIS SHTenT

Gl flallsners GlFilHsb.

making the students understand about their interests

Lo TemTeuT SHaflsir aflHFriLdensU unH ol Yiibs5 GlsTsrsrs GlFiliss

Question Number : 30 Question Id : 6981774467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Reflect
Llrglusd

Options :
Repeat

L6 63T (HILD STl
1.9

Read

Ly

Reflect
Ulrglued]
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Review

LM ey
Language I Tamil

SectionId: 698177141
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177228
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 6981774468 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension



GarhHssiul Hsrer urLsmevlt Ligsg 31-35 allmarssEmsE allsnLwsllsHayLb

2 siTsmHSls0 2 siremGlwmer] wjsirruflsir
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Sub questions

Question Number : 31 Question Id : 6981774469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

&) Tdh &0
1.9

suTLpails

a6 ds 35160

aflifluflsd

Question Number : 32 Question Id : 6981774470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
sTemLIGLTS) SHmlIGlLHE G, SalllibumsGHL Guwa CsusiT@ib sTsiralD T

Hallghi?
Options :
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Question Number : 33 Question Id : 6981774471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 34 Question Id : 6981774472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘SOlpupsI - Bosserd H DL
Options:
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Question Number : 35 Question Id : 6981774473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘Femeu HTLTT —F|evsHsmrds GO
Options :
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Sub-Section Number : 2
Sub-Section Id : 698177229
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 6981774474 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 6981774475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 6981774476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 6981774477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 39 Question Id : 6981774478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 40 Question Id : 6981774479 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
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Sub-Section Number : 3
Sub-Section Id : 698177230
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 41 Question Id : 6981774480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 42 Question Id : 6981774481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 43 Question Id : 6981774482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 6981774483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 6981774484 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 6981774485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 47 Question Id : 6981774486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 6981774487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 49 Question Id : 6981774488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 6981774489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 6981774490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 6981774491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ST suflenFLiLIg ojsnwhFlsTer BlFrhHHsifsr suflsnFmiud Caiey BlFils.

Options :
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Question Number : 53 Question Id : 6981774492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 6981774493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 6981774494 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 6981774495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 6981774496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 6981774497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 6981774498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 60 Question Id : 6981774499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Language II English
Section Id : 698177142
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and
Yes

Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177231
Question Shuffling Allowed : Yes

Is Section Default?: null



Question Id : 6981774500 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)
Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the
correct option for each question.

One cannot forget the joyfulness of one’s childhood. Childhood 1s the stage of our
life in which the smallest of things gives immense pleasure. Children often do not feel
happy with costly things if it does not arouse any curiosity n them. If we remember our
childhood days. we can say. we were happy with things which we could collect on our
own, be it a piece of copper wire or a pebble or some caps of bottles. We were often
ready to play with our friends without knowing that we were learning a lot through those
plays, toys and games.

Now. that beautiful phase of our lives which we have walked past comes before
us when we observe our children as a teacher or a parent/guardian or a caregiver. As we
did i our childhood. our children also love to create boats and acroplanes from paper.
They like to take rides on a tricycle. enjoy splashing water. try to catch soap bubbles.
love the company of pets, play with colourful toys. and get engaged with board games
and electronic games for hours,

Sub questions

Question Number : 61 Question Id : 6981774501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following one 1s NOT mentioned in the passage.
Options :

piece of copper wire
%

5 % a pebble



a smart phone

s caps of bottles

Question Number : 62 Question Id : 6981774502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“That beautiful phase of our lives which we have walked past comes before us...".
The beautiful phase refers to

Options :

1 & childhood

adulthood

teacher life
W

parenthood
e

Question Number : 63 Question Id : 6981774503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Children often do not feel happy with costly things because

Options :

they are very costly.
1. % .



they do not spark any curiosity.

they are bought by the parents .

they spark curiosity.

Question Number : 64 Question Id : 6981774504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The smallest of things gives immense pleasure. Pick the meaning of the word “immense’.
Options:

1 % little

1Y
. Puny

tiny
3 %

huge

Question Number : 65 Question Id : 6981774505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the passage the following statement is correct.



Options :
Adults like to take rides on a tricycle.

We were eager to play with our friends, knowing that we were learning a lot from

5> % those games, toys. and plays.

Children are fond of making boats and aeroplanes out of paper.
3.¢ )

“ Children often feel happy with the costly things.

Sub-Section Number : 2
Sub-Section Id : 698177232
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 6981774506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

We had many apples to carry.

Complete the sentence with correct option.
Options:

1. ¢ oo

5 % 10



ton

Question Number : 67 Question Id : 6981774507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

We can reject the unscientific and unethical nature of customs and traditions.

Choose the opposite meamng of the word ‘reject.”
Options :

| % Oppose

“ disown

challenge
% g

accept
4. &

Question Number : 68 Question Id : 6981774508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part that contains an error in the sentence.

Most of the house in the village are very well planned.
A B B D

Options :

A

1. %



Question Number : 69 Question Id : 6981774509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We should to the next item on the list.

Choose the correct option to complete the sentence.
Options:

Move o1

move 1o

o Mmove of

move by
4. %

Question Number : 70 Question Id : 6981774510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose the option that best expresses the meaning of the idiom ‘Call it a day’.
Options :

o Celebrate the day.

Get out of control.

My patience has run out.

Stop working on something.

Question Number : 71 Question Id : 6981774511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options :

acknowledjment

akcnowledgment

acknowledgement

w acknowledgmint

Question Number : 72 Question Id : 6981774512 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Marina Beach 1s beach 1 India.

Choose the correct option to complete the sentence.
Options :

1 % a longest

5 % A longest

3 % longest

the longest
4. e

Question Number : 73 Question Id : 6981774513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
We should how to say ‘No’ without hurting others.
Fill 1n the blank with the appropriate word.

Options:

1. % 1MW

5 & know

3 % no



knew

Question Number : 74 Question Id : 6981774514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pick the correct sentence.
Options :

“ It 1s an beautiful flower.

My mother was a teacher.

Children need an lot of sleep.
3 %

I need a umbrella.

Question Number : 75 Question Id : 6981774515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The violin 15 being played by Radhika.

Select the active voice sentence.

Options :

Radhika playing the violin.
1. %



Radhika has been playing the violin.
2. %

Radhika is playing the violin.

Radhika was playing the violin.
4. %

Question Number : 76 Question Id : 6981774516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Shravan said, ‘I want this mobile phone.’
Choose the sentence 1 indirect speech.

Options :

v Shravan said that he wanted that mobile phone.
1.

Shravan said that I wanted that mobile phone.
2. %

. Shravan said that he has wanted that mobile phone.
3.

Shravan said that he had wanted that mobile phone.

Question Number : 77 Question Id : 6981774517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



This is the same lorry ran mto the roadside shop yesterday.

Fill in the blank with the appropriate option.

Options :

what

9 o that

this

4 % Wwho

Question Number : 78 Question Id : 6981774518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

My friend prefers coffee tea.

Fill in the blank with the appropriate option.
Options:

1 % from

5 % than

o

between



Question Number : 79 Question Id : 6981774519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly punctuated sentence.
Options:

The weather this Winter, has been windy. wet. and unpredictable.

The weather. This winter has been windy. wet. and unpredictable.

3 % The weather this winter has been, windy. wet. and, Unpredictable.

v The weather this winter has been windy. wet and unpredictable.
4, %

Question Number : 80 Question Id : 6981774520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Whatever he says has so truth.
Pick the suitable word to fill in the blank.
Options :

more

5 much

mainy



maost

Question Number : 81 Question Id : 6981774521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The train was thirty minutes

Fill in the blank with correct option.

Options :

lately

5 % latter

Question Number : 82 Question Id : 6981774522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The work must be finished Friday.

Pick the suitable option to fill in the blank.
Options:

bv
1.+ °



from
W

bve
3.%

1

Question Number : 83 Question Id : 6981774523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This art craft 1s by the students.

Pick the suitable option to fill in the blank.
Options :

made
1.9

make
2 %

makes
3. %

making

Question Number : 84 Question Id : 6981774524 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

“Is 1t okay 1f T use your computer for a minute?”

This sentence indicates

Options :

oranting pernission.

ordering.

asking for permission.

refusing permission.

Question Number : 85 Question Id : 6981774525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘My English World’ 1is the title of

Options :

. English handbook for teachers.

,, Programme designed for the children.

English text books of primary level.

. English online course for the teachers.



Question Number : 86 Question Id : 6981774526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘LAD’ stands for

Options:

- Language Acquisition Device.

Learning Acquisition Device,
2. %

Language Auto correction Device,
3. %

Last Accuracy Device.
4, %

Question Number : 87 Question Id : 6981774527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify a discourse and assign a task to construct it. This task 1s part of

Options :
Silent Reading.

1. %

Pre-Reading.
2 %

Post-Reading,
3.¢



Extensive Reading.
4, % h

Question Number : 88 Question Id : 6981774528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following is a feature of ‘Student Centred Learning.’
Options :

Teacher 1s not a co-learner along with students.
1. %

Student learns 1n 1solation. not in groups.

Student’s participation in all the learning activities will be encouraged.

Assessment 1s done only by teachers.

Question Number : 89 Question Id : 6981774529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following i1s known as ‘Magnacarta’ of Indian education during British rule.
Options :

1% Hunter Commuission



Wood’s Despatch
2. ¢

Sadler Commission

Raleigh Commission
4. %

Question Number : 90 Question Id : 6981774530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following 1s NOT a tool of formative assessment in English at Primary School level
in Telangana State Board.

Options :

. Observation

Project work

Slip test
3 %

Experiments
4. &

Mathematics

Section Id : 698177143



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177233
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 91 Question Id : 6981774531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ramana started watching cricket match at 9.30am in the morning. He watched
TV for 220 mmutes. He stopped watching TV at

rwswrT sremsouflsd 9.30 (am ) wenfls s Fs0s CuUM iyl uriés

o rioUl$sTeir. gsust GlsTansvsari Flsww 220 Bl BissT LTTSSTsT. 2fsusir

STHSMENT WemlldFHS GlTans0ssTL sl UTTIUMS Blni$slul mLuLTsir.
Options :

1.50pm
’| . e

- 12.10pm



» 1-10pm

n 12.50pm

Question Number : 92 Question Id : 6981774532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of three digit numbers having the same digit in the units and

hundreds place 1=:

eiTnTaug) WHNID EIDTSG BIL S350 HCr Blevsssmsd GlaTamL ppsiTn

Bevss sTamm eTH)
{

Options:

90

180

60

Question Number : 93 Question Id : 6981774533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Difference of the greatest and smallest five digit numbers formed by
digits 3. 0. 5,2, 8 1
3.0,5, 2.8 @ewssmsarrey 2 maurssiul L Gluflu whn Au o255 Boss

sTenT H6isiT GoumiLim(h)

Options :

1« 64962

65038

65972

64038

Question Number : 94 Question Id : 6981774534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ravi's age is 9 years. His father’s age is thrice his age. The ratio of Ravi's age to
his father's age after 3 yearsis
reflullsit suwg) 9 oy e HHsiT. SjsuaienL i HULTAIST suilg SsusnisnL i
suisSL GUTsh epsiTml WL BIE. SUURLwWsTDT 3 suFLBissT H1551
ssuspisnL it ouT wHmid raflflaysL w suwg aflFsrFeTrid

Options :

3:1



2_ F

1:2
3. F
4. 1:2.5

Question Number : 95 Question Id : 6981774535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Satish wants to plant trees to cover his square field completely. then the number

of plants required are

&ﬁsﬁ} HeTan|anL_I FHT suqaﬂsun'sﬂ su sl sv (PpAUFIIOTH DTEIFMET 61 6USHSH
allpuodlarmi. guuyGusTnTs 450ES Cameauliufib wrkiSsr s
6T GHIT 6901 |55 61 &

Options :

L x 198

4 x 464



Question Number : 96 Question Id : 6981774536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Leap year among the following 1s
LilsiTsuHeusrsuHmMsL LlFH BrewTent(R (s80501)
Options:

2022

2042

2012

2002

Question Number : 97 Question Id : 6981774537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The next number in the series 4, 8, 24, 96, ______1s
4,8.24,906, _____ ersitp suflemFullsh surssm g (h55 sTemr
Options :

144

1. #

[
(]
[¥5]



192

480

Question Number : 98 Question Id : 6981774538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The difference between place value of 3 in numbers 43.26 and 4.03 1=

43.26 whmib 4.03 steitm sTewrsaiisv 3-Fsir @ wHloy Gsumur®

Options :

2.97
1.+

297

Question Number : 99 Question Id : 6981774539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The HCF of 8. 56 and 60 1s
8. 36 wpmmib 60 Z)sir BLIGILH BluTHIS STremt]

Options :

Question Number : 100 Question Id : 6981774540 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following numbers will not divide 312792 exactly?
Lilsireu(fLb sTemTHeilsd sThS sTevr 312792-m 1 Hlullsitn)] suHHsTH?
Options :

6



(]

Question Number : 101 Question Id : 6981774541 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Anil's school is 670 meters from his house. One day he left home and walked
215 meters. Then he realized that he had forgotten his science notebook. He
went back to home. collected the notebook and went back to school. The
distance travelled (in meters) by Anil on that day for going to school
altogether 1s

eflsenL_ W LsTeflSam L b gjsuspienLw af 1y efmBg 670 1Lt

Gerefl /S DF). @/ BT 2ysusit LsTalls @l GUTMUSHETS af L_snL afll ([
215 60 1L 1T BLBSTST. UGUTSH ojsusir SeTspienL_w gy mlaflish ersni

sT(H&S WnHHIAL_Lang 2_awiihsmsir. Syaust af L_1gn @& & (mibll b5
sTLsmL sT(h S ClsTant(h) UsiTells S SlmbLaD BLHSTST. Zjsrenni
BTeish gysutlsh UsiTel S LS50 HF BlF0susNHTS T(hS5E0)STaTL FTTLD
(B Liflsb)

Options:

88

L

1100
4.



Question Number : 102 Question Id : 6981774542 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

It 15 a four-digit number. The digit m thousands place 1s largest single digit.
The digit in the ones place 1s smallest natural number. Sum of even prime
and smallest odd prime is in the hundreds place and even prime number is in

tens place. The number 1s

B3 20 BTeTE Beoss sanr. uilrsler G I G mS S0 S
Bevssn BsOelufiu saf Gessn. parnrn @)L 550 ) ms e Folu
@assn Anlw @)wst sTenr. @il ushL HMID PNHHMLUILHL LIST
sTamTHans) WadF Al pnednluusnL UST sTewT HrnTaugl B)L53) s
BrlsnLlusnL UST eTenT USSTougl @)L SIS B HHST HES sTemm

Options :

Question Number : 103 Question Id : 6981774543 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



10000kg expressed in quintal as:
10000 #Geor SAlrmib sTeTLSsT FHallaTL Ts0 9jeTsy
Options :

100
1.

10

1000

Question Number : 104 Question Id : 6981774544 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

100 liters of milk 1z packed into 250 ml packets. The number of packets made
1a:
100 sl wmed 250 . sl GUTl L soBISerTs S ssLUBADSI
ULy Glweflsd ML SSLIUL L GIUTL L e0BIS6ITI6T 6765505605
Options:
4

1. %

400

40



]
A

Question Number : 105 Question Id : 6981774545 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The number of factors of 18 are:

18 B)sv @) (/5 @FHLD ST TewTlH6I 60T 6T6uT 6w 15

Options :

Question Number : 106 Question Id : 6981774546 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

T y = 2 -'2 5 f
The product of two fractions 1s 6. If one of them 1s S the other fraction 1s

22
B\rewr(p) Ulsitsarhiseisir GlLmE s 6. 2Bl spsirm 3; STEITMTsL LM 6D TsiT M)



Options :

9
| % 10
5
s

, w18
1
3¢ 17
3

4 % 17

Question Number : 107 Question Id : 6981774547 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An angle more than 0° and less than 90° 15 called as
2 Carewrid 0°-%5 Cusv Z)wphaTan 90°-556 b ) (BHSTaVID 25
ETEOTNE AN NI TE TR

Options :

Obtuse angle

sl G & TewmTLD
1. %

Acute angle

BHNIBIGHTNTLD
2. ¥



Right angle

BlFm GF TemTLD

Reflex angle

L sirsusmer G TemrLD
4. %

Question Number : 108 Question Id : 6981774548 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

—_—

V324 =

Options :

18
1.4

Question Number : 109 Question Id : 6981774549 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



5% of 60 1s
60-s0 5% sTeiTLIZ
Options :

12

r“_‘__,

Question Number : 110 Question Id : 6981774550 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The angles of a triangle are in the ratio 3:4:5. The largest angle of this
triangle is
P2(H PpSCaHTaMTS S 6T CHTamTmiSsT 3:4:5 eTeiTD el B 553160 B)(HSF siTDAT.
UL QwsiTTsy B PpHECsTemrSFlsir WsLiGlufiu Gsrsmrin

Options:



90°

Question Number : 111 Question Id : 6981774551 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A speed 20 m /zec 1z expressed in km /hr as:

20 Siall. Gausdens &.10/wswfl GHrHIls0 smmis:

Options :

T2

Question Number : 112 Question Id : 6981774552 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The value of p, 1f 0.5p = 0.065 1=
0.5p = 0.065 sravflst p —@)siT WFILY

Options :

Question Number : 113 Question Id : 6981774553 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The total surface area of a cube iz 54 sq.cm. Then, the measure of its each
edge (1n cm ) is:

i . . G . nr’ . . _"-I- o) uﬁn B . 3
P(H HOTFHITHBIST GTH5 Ynuuriiustsy 54 FHir 6lF.16. iU wreTTsD,

25657 sl GlauT (| USHSF 6T ojamay (ClF. 51 L fsb):

Options :

I~2
[~

r_,_,

2. %



Question Number : 114 Question Id : 6981774554 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The arithmetic mean of first five composite numbers is:

1pSsD BFH] LG sTenTSal s sl (HF Frmsr]

Options :

Question Number : 115 Question Id : 6981774555 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



“A student applied the knowledge of ratio and proportion in understanding
the concepts of time & work and time & distance”, then the academic
atandard attained by the student 1a:

Crriv & Gausmsv wpmib Cprip & GFTmaaY STHTD &HHS WsHsULI

YMbgel&TsTougnE pf wrenteusit all#lsh wHnib aflflsFwb uppPlu
S Plsnaull LWeTU (RS SIS DT6T. UL WTETTS) 265 L0TewTsMsiT
S mLbglsTem SsballSSrL1 LsTL

Options :

Problem solving

Fsxsd Fiey
1. %

Reasoning and proof

STTemTLLN$60 LHMID Blemsw BT ([HS560
2. %

Communication

. SHaUs UMW THDLD
3.

Connections

v (3) smewTLIL| 6T

Question Number : 116 Question Id : 6981774556 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following steps of the project method in a sequential order.

LilsiTeu (HLb Lig Blemsvsemsm BlFIsLSIL L (penmuilsit Lilg BlemsvHeir
Sy LinsnL_uilsd suflsmFILIB$3515.
A) Planning the project

GlFwsd Sl L Smps5 S 161l s0
B) Creating situation

(@FHLPEMEY 2_ (16U Tdh (FHH 60
C) Reporting the project

RFwsFl L Sms o nlailsss0
D) Explaining the gbjectives

CrréasmismsT allerdFHHs0
E) Executing the project

RFwsLFI L FmsF BlFIWVL(HSFHIH60
Choose the correct answer:

Fsriwrar allsnLsniwg G5y GlFus:
Options :

A D B,CE

5 B.DAEC

B.AECD

AEDBC
%

Question Number : 117 Question Id : 6981774557 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following concepts to be taught with most suitable teaching

learning material:

dlsiteu b &{SF Wswed sHDIS FHUSD S THD HHD60 FHUISH60

&(madlsGerT([H GUTHS5 5.

Concepts

& (H5 B ILI6V S 6T
A) Percentages

all (LSS T(HS6T
B) Types of triangles
(PpHCHTMT 6UsHHH6IT

C) Number of edges of basic shapes

213 LILINL_ 61 Lg.6U MBI H6I60
LI&H MBI 61 69T 5307 600115 61

D) Decimal numbers

HFLD &T SO0 6T

ChODSE the correct answer:

giiwrar aflsnLsnius Csfay CFls:

Options :

A-m, B-1, C-1iv, D-11

1. %

A Boav, Coa, D=
2.

A Baw: Cen, Dea
3. %
4 % A-yv: B—m, O-=1, D=n

Question Number : 118 Question Id : 6981774558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

1.

11,

1v.

TLM

snm sNUSS60 &Hallser
Solid geometrical shapes
FlenTio auig ailish 2 (HeumiSsiT
Grid paper

BlememTiiySS T [ HLUL_SHTsT

Abacus

swTFFL_LLD

Geoboard

LG UsMS



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the advantages of the unit plan among the following:
Lilsireu Heusmsum Plsb sparylin oe0Es L GslsT Apiflwsvsnus s ygls.
A)  The unit can be completed withm the allotted time.
T 9 oE 9HI550ULL CHr5InGsT pyssuubBEng
B) All the toplcs in the unit can be taught sequentially.

P 9s0Ssh 2 6iTem LUTL S SsneOlILFHemar suflsnFWTHS SHNIS ST
(pig ufLb
C} We can know which unit 1s to be taught in which month.

5Th3 @ SaMmEWLD 6THS WTHEH HDLISS Gausir(Hib sTsTLMSLI
um Yl BT o WlhSIElSTsTar (LpLguLb.

D) The teaching and learning materials required for the unit can be

provided.

o gvmas shHUlssan sHsa)b CsmauliuBib &mallsmears
ST (pI3yLd

Choose the correct answer:

Friwrer aflsnLsnws Gl5fley GlFis:
Options :

C {gI D t}lll:v

C & D wr_(pub
1. %

AB&C only

AB&Cuwlpn
2. %

A . B& Donly

A, B& D w b
3.¢

AB.C&D



Question Number : 119 Question Id : 6981774559 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements related to evaluation in mathematics.
Ulsiteu(pi semfisid GlsTLTurer wallUlLsd unpPiu FqHnISmari LigSHsa)LD.
Statement-I :  Assessment for learning and assessment of learning are

involved in continuous comprehensive evaluation.

FnHml-1 L aDnaSsTaT gsTallfls wHnID SHDwsT o arall[Hs0
BrenrRib Q5T 1pap wlIfI igsh gL Bigluysirarg).
Statement-II :  Continuous comprehensive evaluation involves formative

assessment and summative assessment.

Fhmi-ll ;. Garut wpup walUF[ eTsiTUSl sueTTBln e
ST snL b QST HEsms wHILTL snL_wjib

Bl e (Hsirarg).

Chﬂl{}SE‘ the correct answer:

Friwrear aflnLsmwg G51ay ClFiis:

Options :
Statement-I 1= false and Statement-II 1s true.

“ Fpnm-l ssumi, ooy -l #1

Statement-I is true and Statement-II 1s false.

Fapmi-l #1, s Hmp -l Heum

Both the statements are false.

Fre (B s HNISEHL Seuml



Both the statements are true.

v B renr (B FmHmISEHID Fil

Question Number : 120 Question Id : 6981774560 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
If a toplc 13 divided into several parts and spread mn different classes as per
the difficulty level of the content, then the approach adopted in mathematics

curriculum 1s:

P(H SIS UTLSFIL L S50 (5 UTLLUGH HsU UTL S50 B)(meHlsTD

2 6T G553 60T S1960T Blenssnild &HHle0 blETent(h GlsusiGamn
UGS EhS & eTDL Ls) UG serTalt UMssiufib 9)smi&ipsnn

Options :

Topical approach

HEMEULI L] L G]uurgr_r)s'rr 2] )| (5 (Lpsm D
1. %

Concentric approach

5 GlUTFIsNLDIL 38| E(LLsND

Inter disciplinary approach

- gismpuilsnt_ sjami 5 ipsnn



Teacher centred approach

2L FATIIT MW 200 FH(LPsHD

4. %

Environmental Studies
Section Id : 698177144
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177234
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 121 Question Id : 6981774561 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The nutrients which are required by the human body in very small quantity
among the following are

LilsiTsu Heusmsud mlsy Wwafls 2 L )16 HS CHmeu T 2r’ | F55515 56T,

& EHmDbS aralls) SmL S5 Fnlg g sTH)



Options :
Carbohydrates

- sTiGuT shant Gri ) (wreyFFH51)

Fats

5 % GaTapUILHsT

Proteins

YTamismsi (LSTmi_igsirssir)

Minerals

HTH 2 _LILH6ir

Question Number : 122 Question Id : 6981774562 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A flower that has both androecium and gynoecium is called as
g emrsid (e Grrfwb) wHnib s (SGarrfwn) starp F) rer Hib
2 _6iT6m eV gemipds & LILI(HauH)

Options:

Incomplete flower

(pApsmIDWMMD WeOT



Unizsexual flower

2 LImsy Weim

Bizexual flower

B)m uTsL wevi
3. %

Staminate flower

AT T
4. %

Question Number : 123 Question Id : 6981774563 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Jams and fruit juices are preserved with

Besfiligys Fplh (22mb) LS Fplb (D) LSLUUBSSU LwsTUR S
Options:

Salt

2 1L

Sugar

FTHBENT

Honey

3 % Gg;tﬁ'ﬂ



01l

6T 0T (o) 59T i1

Question Number : 124 Question Id : 6981774564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As we go upwards in Troposphere layer of Earth's atmosphere, the temperature
will
yiluflsir susflwsire_svsglsir L CrrGumrsvliut o hsHls rid CsvCrrés
B&(HLGUTH, GlauliLplensy

Options :

Increases

ST
1.
Decreases
HEMDIYLD
2.
Bemains same
I'-'-ﬁ' . (I -
- FOIOTS (F) ([ GHLD
Constant
BlsnsowTs [3) 5% FHL0D
4, %

Question Number : 125 Question Id : 6981774565 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first hour after the accident i1s known as

20 alussl BLESSDGU USTATTOTST (5 (6 wewil GHrD
IsmpSESHLUUhaug

Options:

Critical hour

OB mES I3 LTAT GHTLD
1. %

Silver hour

Glsusirafl GHTLD

Saving hour

sTUUTHHID GHTD

Golden hour

Glumsitesrmsr GBILD

Question Number : 126 Question Id : 6981774566 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The future energy resource among the following

LisiTou (HouSBl60 TSI & T605HSH S TET Fdsdh! 616N LDT 60T %]

Options :



Water

B
1. %
(Coal
Blsvs ST
2. %
Petroleum
GluL_Srredwib
3 %

Natural gas

Blunsns sury

Question Number : 127 Question Id : 6981774567 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The largest organ in human body among the following
Ulsiteumsuglst wesfls 2 L ibiilsit Glufw 2_miliursTg
Options :

Bone

STERILDL]

1. %

Liver
BlsnTuf s



Small intestine

£| o v
3 % ) GLsv

Skin

Gsmsb

Question Number : 128 Question Id : 6981774568 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

World Water Day 1a held annually on
2 0% BT Sleorib BlsTeiTL TL LILIHID BTsiT
Options :

2204 January

arsur] 22-g1b G55

1. %

11t April

sriarsd 11-gp1b G55
2 %

221 March

g 22-20 G55
3. %

11t June

4w 2o@sit 11-g0 G55



Question Number : 129 Question Id : 6981774569 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Earthworms breathe through their

LOSHIT L (LD S 6T HBIS EHsDLII 6THS 2 MILILITS S6uTFSHA 65T D sor
Options :

Skin

GHms

Gaills

BlFaysir

Lenticels

STHMISFHIsW6T (Bls060T Iy FsUSHsT)

Stomata

Blsmsvsgiemsrs GlaTHuy (swGLrwriLr)

Question Number : 130 Question Id : 6981774570 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The plants with fibrous root system have leaves with

p :

BTTSSSTemsnL_ I GoulHsnarsd GIETNTL STeuTmISaT s 3)smevssir
Gl& TeiTiy (HLILIFI

Options :

Parallel venation

Bemenrs THEHTL_L LD
1.9

Horizontal venation

FemLwl L& sTHEDTLLID
2. %

Beticulate venation

susmevL1LlsiTeorsy STHGEDTL_L b
3. %

Branched venation

Flemar Blemsvd STHGOTL L LD

Question Number : 131 Question Id : 6981774571 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following disease is caused due to particles of mercury

LilsiTeu (Heusimsum mst LITSTFSH60T H1S6THaT STTEMTLOTS sTHUHID GHmil
Options:
Minamata

Wewrm wrsT SHTid
1@ 5 ST ‘o



Pellagra

supL_(h% Csmsb

Diarrhea

andHpuGurs S

Covid-19

4 % Garaill-19

Question Number : 132 Question Id : 6981774572 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the gas caused Bhopal tragedy among the following

LisiTeumeuamsup st GUrUTs) IWTSIDHS STTMTOTATENS Gf6» LI TTLD

& T&mT 5.
Options:

Ammonia

2 Gureflwr

Hydrogen sulphide

&M AN Y. T FsllsmU (h)



Methyl Isocyanide

Rlws5Ts0 2CFTemFamet(h

Sulphur dioxide

. FOuUT swL_ wWTHemF(h
4.

Question Number : 133 Question Id : 6981774573 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following. the states that come under the Western Zone of

India are
LilsiTeu(HLD WTBlsuBISaTsy, Gn@EHL LGS TH 60 H6TT sl 6T
Options :
Gujarat. Rajasthan, Goa and Maharashtra

BHETTSH, TTEsVSTeT, CHTeUT WHDILD DSTTT6I1g TT
1.¢

Gujarat. Punjab. Himachal Pradesh and Maharashtra

H2rTH, UshFTL, anlwrFFsd LrGssy wHmib WwSTTTeigly rm

Maharashtra. Goa. Jammu & Kashmir and Ra jasthan

WHTTTogy T, SHTeur, 2ibeyp & STagST WHMID TTEEVS TET,



Maharashtra, Jammu & Kashmir, Rajasthan and Gujarat

WHTTTaglgTT, 2ibep & HTaglT, TTEREVSTST WHMID HRTTSH

Question Number : 134 Question Id : 6981774574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the true statement regarding the Longitudes

F1H58rsma unyliu FAWLTHT FoDHsMDS STl D 5.
Options :

There are 90 longitudes on either side of the 0° longitude

0° FraaGremswilsir @) pynupl 90 FT65CTens 2 sTarg).

1. %
The 90° East longitude passes through Greenwich
90° Flps G FTHEECrens HlfsTalFansds sL_HF 2L THF GlFLADFI.
2. %
180° East/West longitude is also known as International Date Line
180° s [ Cung $755 Crans FisuGsHF HreT susmTGHT(H sTaTaLD
S smpSSLILRF DI
3. ¢

The time difference between two consecutive longitudes 1s 5 minutes

9 H355H55 aum G\ranrH S1Hs Granssaisit GHr Gsupiur® 5
Bl B ST (GLb.
4, %



Question Number : 135 Question Id : 6981774575 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From among the following. the two main rivers originated in the Western
Ghats of India are

Lilsireu Heusrsunmlst @)rar(p (psHw HIls6T CnssHi Wenes6 STL T
2_MLS ST 65T DEIT.

Options:

Narmada and Tapti

BTLOST WHDID SUF

%
Mahanadi and Godavarm
WHTHS WHNID GHTHTuT
2. %
Krishna and Narmada
Z(HsigenTT WHMID BTLLST
3 %
Krishna and Godavar
Fl(HsigewrT wHMIL CHrHmeu]
4.

Question Number : 136 Question Id : 6981774576 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



These minerals are required approximately in the ratio of 4:2:1 to make steel

sTon(G HWThEs 4:2:1 ailfl558)s0 CHamauliupib SefwdiSsr
Options :

Iron-ore. Cooking Coal and Lime Stone

Blmbys5TH1, B HLYSST HDID FeRTemTTLDL|S5H60
1.¢

Iron-ore, Manganese and Lime Stone

B (BLOYSSTSHI, LOTEIS6 61 DDNILD 6097w TLDL &S0

2. %

Cooking Coal. Iron-ore and Manganese

S HUYEST], B)(BLLYSSTHI, DTEIST6E
3.

Aluminum, Iron-ore and Lime stone

sy Lblestwih, @) (HLOLSSTHI, F6urswT TLDL|SH H 60
4, %

Question Number : 137 Question Id : 6981774577 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the period of Mahajanapadas ‘Bhaga’ refers to

LD % TF60TLIHT 55.1'63_&;55‘11 UTHT Er&'&TU@ .@ﬂﬁug;
Options:

The share of the farmer that was equal to 5/6 of the crop

5
. . . s 2 . R
1 % silsuFruilssrar uklE allswsrFFsdlsy — UBI%HS HF FLOLTATHI.



The share of the king that was equal to 1/6% of the crop as tax

S TFHSHSHTHT UBIEF suflurs ailsnardFsdlsy ¢ UBI§& &S FIDTTE).
2. ¢

The amount of tax to be paid to the king by the Grihapathis for
cultivating the land

Blsusdlsd allsmsrdsst BlFIMSNHTS STSUISHTT B TFHSHF
GlFa)SHID surl.

3. %
The amount of tax collected and repaid to the king by the Gond Patlas
CamenTl. UL s0TSSH6mTeL sulfliITS suFHeOSSLIUL R TFHSGHS S(HloUF
BlFiSzIb 615 TmsS.

4. %

Question Number : 138 Question Id : 6981774578 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This Mughal Emperor granted Robert Clive the right to rule Bengal

SUBISTETSH 60 Y TFTEHL 2 femwsnw rrufl Flmearallh @ 565 (PHOTIL

LOGOT 6T T
Options :

Bahadurshah II
usgTiagr 11

Shah Alam II

Fsv gsumb I



Jahandar Shah

BEHSTOYT
3. %

Akbar II
. SABuT II

Question Number : 139 Question Id : 6981774579 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following. this turned out to be the first all India struggle
against the British Government although it was largely restricted to cities

GUHLUTSYD BSTBIS6TNsY WG BLBIHBSTAID, LT 136 o rens
STHTHS BLHS (PH0 e BHFIW #5630 GUTTLTsL
LilsiTsu meusmeum Hls &(H555555]

Options:

Swadeshi Movement

#C5F Blwssbd

Vandemataram Movement

5 % uBEGH wWTHID Fussd

The Rowlatt Satyagraha

3 @ TeysuTL FSHWTH THLD

:Yes



The Non Cooperation Movement

P5JMPWTML FWSHLD

Question Number : 140 Question Id : 6981774580 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
By the time the British East India Company entered India, the Portuguese

had already established their base in this region of west coast of India

Wy agrflsr fpsLHsw sbblust Rmpss Gursl, GurTs51EFwT
FEIFET FarHens FHSwrallst GunFHs sLnsmruls asHubssullphEs
B)ib

Options :

Calicut

CxarflEGarH

Mangalore

LDrﬁ'Jas@ri'

Bombay

3 % y,u:urru'_i

Goa

Gamsumr
4.

Question Number : 141 Question Id : 6981774581 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Among the following. the true statement regarding the State legislative
Council of Telangana is
LilsiTeu (Hsusimsum mlsd GlEHs)BISTarTT WTHs5H6T FIL Gosvsnsy Lim pilw

D 5507 &1 LD 1L T60T aa._;ﬁ,r_r}rrfmgj I:TI'QJ?

Options :

It consiste of 60 members

. Ba1 60 e_miillert Henerd GlS T LS TS0
1. '

The Governor nominates 1 /12t members to the State Legislative

Council

# L Gusvsmaunilst — Lt 2 piri et ssmar oy T BlILSTEHLD
- \oLD6V6 B o5 LIt 2 [INEIEIS Gl SR [BICHINLIL R D,

rd members to the State

The State Legislative Assembly elects 1,3
legislative council

) : . .1, ) : )
FULFmu 2 maflartssr s Guwsvsnsuuilsr S UBG 2 _mitilert Hsners

G -I- m u uﬂl i u n
- &I 50!S (%S M T Hsr

The members of the Legislative Council are elected for a term of 5 years

FLU_ L Gusvsmsuuilsir 2 miflewissflsit usallssTson mb5)
9}, 6907 (h) & 6T T (FH1LD.

Question Number : 142 Question Id : 6981774582 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
From among the following. the two acts passed by the Government of India
for the protection of Children are
Gubmssafear urgsriudnsrs @bslw grFrsd ssHURSSOUULL 3 renr([H
FL_L BigsiT LilsiTsumsuamsupmlsd 7517

Options:

The POCSO Act. 2012 and the Juvenile Justice Act, 2015

CGursGsr s ib, 2012 wHnib Apri BHlFs b 2015
1.

The POCSO Act, 2012 and the RTI Act, 2005
POCSO #_Lib, 2012 wpmub RTI #_1b, 2005

2. %

The RTI Act, 2005 and the Juvenile Justice Act, 2015

Sseusy g flujib 2 fswwd F11b 2005 wpHmib FAori HHlF F#1b 2015
3. %

The RTI Act, 2005 and the Nirbaya Act, 2013

S350 iy 2 fenwF F b 2005, Bifuwr #°01b, 2013
4 %

Question Number : 143 Question Id : 6981774583 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct sequence of the given temperatures in the ascending
order (12°C. -16°%C. 29°C. 0°C, 1°C. -1°C. -4°C)

GlaThHEsuul_Rsrsr Glauliuplsnsossnst stnisuflsnFuflst ST Hib FlwTeaT
suflsmeamwsd serLpls (12°C, —16°C, 29°C.0°C, 1°C, —1°C, —4°C)

Options :

G I8 1€ - A€ 470 - 465, 29¢

1. %
2t o = o i o o y o I:.D o
5 16C. —A4C =1, 00 1 13 C. 29¢C
- 1°C. AC,—18E-BC,TE 17C, 9
3. %

4 % 29C 126 IC 06 —1C ~4€,~16C

Question Number : 144 Question Id : 6981774584 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In India. ‘Anthyodaya Cards’ are 1ssued to these people
BpswTallsd " HBEESTSIWT YL enLS6T sulpBISILHILD WSS6T

Options :

The poorest of the poor families

Tl (HHIDUBISMeTF FTTHS L% 6Tem LD 6T
1.¢

Agricultural Laborers

allsuFTind Felld GlSTIls0Tari s



Below Poverty Line people

sumisnind CHTL 13M & HLp 2 6iTer L HsiT
3. %

Senior Citizens living in the rural areas

omrTsl LGS ullsd surpld psSS &Ly L05S 60T
4. %

Question Number : 145 Question Id : 6981774585 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Telangana EVS text books. the captions like “Look at the picture — think
and say”, “Think and say”, Discussion in groups” represents mainly this
academic standard

GssymisTarrallst EVS urLl yisssslst ‘uLgmsl uriss, Gurd,

OlFTsLas 6TeiTD Hsmevliysewsmll UTTSS HULTTHsT. Curd GlFTssmissr,

(1 afleuTHLD sTSTLISNE 2 T SSID (LpSH WL TET Hs0allS ST LIsTL

Options :

Conceptual understanding

H(HHB W0 LTl Hs0

Questioning and Formulating Hypothesis

alleTsyH6L, H(HHICHTeW6T 2 (HsU TS FHH6V
2. ¢



Experiments, field observations

CFTHemTSH6IT, H6dh 64915 T 6001 1L1L]

Information skills, projects

4 % DB FDsiTSeT, Yiiayd B L hiseir

Question Number : 146 Question Id : 6981774586 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A year plan for a particular class should be prepared for the remaining
working days by deducting the following

LilsiTeu (Heussrsum 1ilsh sTems 5 HenTLPbH @i suGLiUlsir i =y, sy HETem

uswf] Brsemsmrd S L 10l s0TLD.
Options:

School Working days in the academic year

@I 2 sWT1g 65T LisiTaif]) Liswf| BTL_&6iT

World environment day

5 % 25 F M MIFFLpsD FHeoTLD

Natignal science day

CsFlw =y rlailwsd Flsrib

4.9



Working days required for Inservice training

2 _sitemsl usnill N FFSSTSS CHemeuliLiBb Liswi] BT HsiT

Question Number : 147 Question Id : 6981774587 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following activity best suits for teaching “different types of
houses, Post office, Banks"?

GlousuGeumy susmswTer af (HH6T, BEhF Ba)sUsUSLD, 6UBISH ST
GursTDauDmDS FHMIS B1&THLILSNHSTT HL 61l HNHSB6I 60 6TH)
FpUIUTaTs)

Options :

Real Objects Activity

&u‘nﬁrmmﬂ@ur@sﬁ‘ BL_6 L-']_éiitr'ﬁ'.lc'.l:'r

1. %
Chart Activity
SUSHT UL L 641y Hew
2. %
Fieldtrip Actiﬂ't}'
H6MTF FMMISOT HL 6UIgHemH
3.

Picture card Activity

LI .g;qLamL :‘Ijl_ﬁ)_!r_q_ﬁ'iﬂ'}ﬂi
4, ®



Question Number : 148 Question Id : 6981774588 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Imagination of the outcomes based on known information” is the learning

mndicator of this academic standard.

‘b5 SHusLS6TST g liusnLwilsh aflsnsraysHemsmd ABSIILFZ Hsvalldh
FsirsmLouilsir 6ThSS DD YemL LTI HMS ST HF DS

Options:

Experiments and field observations

. CFrsenarssT WNHMILD SETLD & 60T H Tewf LIL
1. %
Formulation of hypothesis
% (HBICHTETHsT HL_LswLoliL
2. %
Conceptual understanding
3 % HHSHWsnsvll YTH5| Gl&TsiTsmsHe
Information skills and project works
SHH6UD FIM6ITH6IT LOHMILD HILL_LILI5wT5 6T
4, %

Question Number : 149 Question Id : 6981774589 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements are true related to elements of teaching

learning approach?

LilsiTsu (b S pmuserlsd snLSH60 sMHM6L 2 emm1EHpswmuilsit Llg 6TH)

FHLTETS)

A)

C)

The approach should help children learn how to learn

GLHMBH6T sTUILIGS SDHMIS OB TTeUS sTHTLSD G 2 FoLb

S| VG{PenD

The approach should engage children in learning activity
GUubmasamers sDLSS60 BLsulgSamsuils) FHUMSSHID 2)em)IF(LpsnD
Product skills must be integral part of environmental studies teaching
learning process

FNNIFSPsL UTLBRISMeTS SDUSS60 sNDefls Swrfliyssnenear

2 _sTemTihS LGS LTS LS FHD | FH(psnn

The approach should be in accordance with children’s individual
differences
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Choose the correct answer:
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A, B &' C C:Iﬂ:v
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A, B & D only
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B.C & D only
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Question Number : 150 Question Id : 6981774590 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
This committee in the report stated that school curriculum should be totally

re-organised for sharpening of natural creative abilities of students and to

malke teaching meaningful
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Options :

Yashpal committee
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Ishwarbhai patel committee
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Ramakrishna Rao committee
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Kasturi Rangan committee
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